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He requires, however he has no recourse — 7PN R PRY TN

OVERVIEW

WX 27 challenged the ruling of 7% K that 73PN Y% 1K 7297 IR 172V 1ponn, from a
statement in the name of J17 '3 that a 172v °pon is M MY XX and requires a V3
TN, seemingly indicating that there is a 7Ipn with a MIMw va. To which MR
responded that when *" ruled 7177w v 77X, he meant that to become a 17117 12 he
must have a MW v, however (in this case) a MW Vi will not be effective (as
MK rules).

nooIN asks:
— 5919 PNONRN N30 NIV TaY (x,n9) YT VIRT 13NN 5397 THND 1YY SUPINT 119N

It is astounding! "wX 27 should have challenged "X from the other ruling of
>''1 previously, where >"1 ruled regarding a slave who escaped from prison, etc.,
that the 72 is freed (from serving the master)” -

1PN I W RNYN 129 NN 19999 NON Ny N9
And not only is he free, but in addition we force his master to write a MY OW
for this 72v (to enable him to marry a 171 n2). This indicates that the 72V has a
71PN, so how can 1R rule that 73PN 12 PR! M0 does not answer this question.3

SUMMARY
There is a statement from *"1 that there is a 7pn for an 72¥ who is 57, by writing
a MY vl for him.

THINKING IT OVER

Can we (perhaps) distinguish between the case of 2°nX where the 72y is 7257 (and
73pn 19 R) and the case of m1aw 72y (a case of W) where °"1 rules that DX 7791
127 and 73PN % @ with a M ow??

!5 21 considers a contradiction from 737 ' as a refutation of 72K; the X713 should have chosen a different ruling
of 1M "1 where he clearly states that 713pn 17 w°.

2 We assume the owner is WX from this 72y and he becomes qpo1.

? See “Thinking it over’.

4 See 111 on the 7 K K 7"7 3 and 7"AR # 151-2.
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